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(a) Joule’s effect (b) Peltier's effect
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The wave length of X-rays that can be measure
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The Quantum energy in lattice vibrations (or elastic wave) is called :
(a) Photon (b) Phonon (c) Hyperon (d) Nucleon.
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If Eg is Fermi energy and ¢ is work function of a metal, the depth of potential well of the
metal is :
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At absolute zero, valence electrons in an intrinsie semiconductor lie in :
(a) Valence band (b) Conduction band (c) Energy gap td) None of these.
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The colour of light emitted by LED depends {:-n( ) ! il
(a) Its forward bias (b) Its reverse bias
(d) The type of semiconductor material usec.

(¢) The value of forward current
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In a CE amplifire input and output voltage are - hase d) None of these.
(a) Equal (b) In opposite phase (c) In same P g dl R € 1 fwE A
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The example of a R-C oscillator is :
(a) Hartley oscillator (b) Colpit oscillator
(c) Wien-bridge oscillator (d) None of these.
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If coherence time is 1078 second then coherence length is :
(a) 3 cm. (b) 3 m. (¢) 30 cm. (d) 30 m.
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The fundamental base of laser is :
(a) Absorption (b) Self emission
(c) Stimulated emijssion (d) Seattering.
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Tunable laser is :
(a) Rubby laser (b) He-Ne laser (¢) Dye laser (d) CO, laser.
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Why is crystal used instead of optical grating in X-ray diffraction ?
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at type of substances can not be magnetised ?
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(a) Silver Owings are semiconductors and insulators :

d) G ; (b) Sulpher {c) Silicon

Frmenium (e) Ebonite (f) Diamond.
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¢ potential barrier can not be measured by a voltmetre across a diode. Why 7
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While using a transistor as amplifier, only the CE mode is considered to be superi
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What is the "Bark Hausen's" condition for an oscillator 7
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What is meant by stimulated emission ? What is the time period of self emission !
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What is optical pumping ? Explain.
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What is meant by X-rays diffraction ? Derive Bragg’s equation 2d sin 6 = n %. Symbol's have
their usual meanings. hitp://www.davvonline.com
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xpressions for the magnetic

How magnetic moment is produced in a atom ? Explain. Derive e
moment due to orbital and spin motions of a electron.
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State the limitations of Eiensten’s quantum theory of specific heat. How these limitations are

removed by Debye model ? Show that at low temperatures, the atomic gpecific heat, according

to Debye model, obey’s the T" law.
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Explain Kroning-Penney model for energy bands jn solids.
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working. Obtain expression for its frequency and state conditions of sustained
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? Explain necessary conditions required for laser action and how these can be

What is Laser
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